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. HEIE A4 BAII
(wyR) | R D
— g8 B
Xz |KECC)| KE(C) | BEUKE [ ER =Xz R
4K /M 12.7 13.5 == BE me mR
68 i 27.0 21.0 == BE me LpI3n LR -
8H i 38.1 28.5 =IE BE me mR
108 = 26.1 24.5 =IE BE me mR
128 i 16.4 12.2 == BE me LpI3n LR -
2R £ 10.5 8.2 xE BE B - B®R
4FRIBIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=%|E| 6.0~85] 20LLE | 8OLLF | 100LLF -
EHE(75%1E) - 8.9 4.8(6.6) 6 210000
48] 76 8.2 4.0 4 50000
6A| 7.1 6.8 6.6 10 500000
8A|l 73 9.0 1.4 7 130000
10A] 74 6.8 2.0 8 500000
128 77 9.5 5.5 4 17000
2A] 15 13 9.2 5 80000
BEEIER
NP INESD S E ANEYOL| WmE $hskER T ILEILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
S| 0.01LTF | JE#H | 001LLF | 0.05LLF [0.01LLF [ 0.0005LLF JERRH
TiHE - - - - - - -
4R - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -
ooanA o .. | 1.2-070 [1,1-o5nn|YX-12->7a[1,1,1-Fan
PCB 5 Mg x4y | Ty NIFLo T4
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El FEHEH [002LLF | 0.002L8LF | 0.004LLF [ 0.02LLF | 0.04LLF 1LF
E - - - - - - -
4R - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -
1,12-rysa( kYo aa(Fr34oa0x) 1,3-o49A = S, ose FARAL
azsy |TFLY| FLv | AFasy | TIIL| ¥IIY 7
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#1{E] 0.006LLF [0.03LLF | 001LLF [ 0.002LLF [0.006LLF[ 0.003LLF 0.02LLF
E - - - - - - -
4R - - - - - - -
6 A - - - - - - -
8A - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
M| 001LLF [001LLF 10LLF 0.8LLF 1LLF
F15 - - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—AF4 RILLT LT
vmmmy | EER e 2 2®e | J00RILL ER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 3.3 0.27 - 0.009 - -
7y: 1 34 0.20 - 0.010 - -
6B - 35 0.45 - 0.013 - -
sA| - 1.5 0.16 - <0.005 - -
108 - 1.5 0.14 - <0.005 - -
120 - 4.4 0.33 - 0.012 - -
2B - 57 0.31 - 0.008 - -
BiLH WIHERE | UUBR : o =3 S
I/ | g coD el > AE EXEER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
TREl - = 5.8 = = = 290
4R - - 4.7 - - - 230
64 - - 5.6 - - - 310
8A - - 4.4 - - - 290
10H - - 5.9 - - - 210
12H - - 6.4 - - - 350
28 — - 7.8 - - - 320




TERR19EE

5 2 FEE | A4 BAI
(BHEH) | g D
—iIEE
x SUR(C) | KE(°C) | BEUKE [ ER =i RS
48 5 11.4 14.0 == peabiy KR [beS5hnR-1
6A i 27.5 21.8 == pCabiTY xR mE
8H i 36.8 29.5 == pCabiTY R -k mR
108 £ 25.3 25.0 xE b RAgf - BmE
128 i 12.4 14.4 == B Rixf - iR mR
2R £ 10.5 9.7 x[E R REgE IR EmR
EERRIEIER _
oH DO BOD SS PNTFEE
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EZIE] 6.0~85] 20LLF | 80LIF | 100LF -
EHIE(75%1E) - 74 3.1(3.8) 9 140000
48] 75 9.1 3.8 16 30000
6A| 75 4.7 0.9 4 80000
8H| 72 10 1.5 10 500000
10A] 75 6.8 1.6 8 50000
128 79 5.4 2.9 10 140000
2A] 713 8.4 7.6 8 17000
BEIRE
N INIESS S Y AfoOL| #BE Bk ER 7 ILFJLKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE{E] 001UF | FE#H | 001LLF [ 005LLF [001LLF | 0.0005LLF EREH
£ <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 -
2H - - - - - - -
oo00A . 1,2-240 [1,1-C4on|P&R-1,2-450]1,1,1-k)-0n
PCB 5 migds® | L0 1y Tl h
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] FE#H (0020 TF ] 00028LF [ 0004LLF [ 0028 F | 0.04LLF 1LF
£ <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
48] <00005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
68| <0.0005 | <0.002 [ <0.0002 <0.0004 | <0.002 <0.004 <0.01
8H - - - - - - -
108 <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
128]| <0.0005 | <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.01
2H - - - - - - -
112-bypafbyonn|FrSoanI| 1,3-50 = S, 3s FALANL
azsy |TFLY| FLv | AFasy | TIIL| ¥ITY 7
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E] 0.006LLTF [0.03LLF | 001LLF [ 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
£ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
108 <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128 <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2H - - - - - - -




(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
(] 001LLF [001LLF| 10UTF 0.8LLF 1LLF
EHfE]  <0.001 <0.001 1.1 0.3 1.0
4H] <0.001 <0.001 1.7 0.1 0.3
6A] <0.001 <0.001 0.85 0.1 1.0
8H - - - - -
10H] <0.001 <0.001 0.83 0.1 0.8
12H] <0.001 <0.001 0.98 0.7 2.0
2R - - - - -
EDHIEE
N | 22% | &% @ | 2E® | soofous |TRTAT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 2.7 0.28 - 0.010 <0.001 <0.008
4R - 3.3 0.35 - 0.018 <0.001 <0.008
6H - 2.6 0.28 - 0.007 <0.001 <0.008
8A - 1.9 0.28 - <0.005 - -
10H - 1.6 0.24 - <0.005 <0.001 <0.008
128 - 2.7 0.28 - 0.015 <0.001 <0.008
28 - 4.3 0.27 — 0.011 — —
BiLH HHHERYE | B ; = i S
IT/= | g coD el > AE EXizER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E <0.02 4600 54 0.09 0.24 - 8700
4A <0.02 1100 54 0.20 0.28 - 200
64 <0.02 4200 5.3 0.06 0.27 - 12000
8H - - 4.7 - 0.25 - 2500
10H <0.02 2900 5.5 0.04 0.20 - 7100
12H <0.02 10000 5.5 0.07 0.20 - 24000
2R Z - 5.8 - 0.22 — 6500




